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Section Id : 233667381
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667457
Question Shuffling Allowed : No

Question Id : 23366711477 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training is precisely
that which one gets through having to enter into proper relations with
others in a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral training.

Sub questions

Question Number : 1 Question Id : 23366711478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« individual existence
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, » religious life
. » spiritual life

., » social life

Question Number : 2 Question Id : 23366711479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Moral tramning, according to the passage, effects
Options :

. »aunty of work and thought

, . entering into proper relations with oneself
. » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366711480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as
Options :

1. ¥ Critical

, « adulatory

, « defensive
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, « indifferent

Question Number : 4 Question Id : 23366711481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :

. . spiritual education / spiritual training

, « work education / work training
. » moral education / moral training

, « thought education / thought training

Question Number : 5 Question Id : 23366711482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception
, « Neglect

, v Precise

, « Genuine

Sub-Section Number : 2
Sub-Section Id : 233667458
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Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366711483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Correct the underline word in the sentence below, by substituting with the correct word

[ pray for god to give me strength
Options :

., regarding
. v 1O
3 % Of

. « with

Question Number : 7 Question Id : 23366711484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

) v dll

3_333

, « no article

Question Number : 8 Question Id : 23366711485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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This 1s car my friend bought last week
Options :

1. the

z&%an

3.8 d

, = o article

Question Number : 9 Question Id : 23366711486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Indeed, I am not sure his success
Options :

1. ¢ Of

, «regarding

;. » about
4. % Off

Question Number : 10 Question Id : 23366711487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse

Options :

.« after
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2. % ag&iﬂst
3 % Of

4. JOff

Question Number : 11 Question Id : 23366711488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again. to discuss the matter
Options :

= Comittee

, # Commitee
;v Commuittee

4. #* Comitee

Question Number : 12 Question Id : 23366711489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

1. ¢ buOyaﬂt

, » buoyent

. « boyant
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4, ® bllyant

Question Number : 13 Question Id : 23366711490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
.« has

, » had been
; »would have

. » have been

Question Number : 14 Question Id : 23366711491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[ wish I her address

Options :

.« know

, » have known

, » may know

. v knew

Question Number : 15 Question Id : 23366711492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Incredulous means
Options :
.« obliterate

, » skeptical
.« practical

, « Insane

Question Number : 16 Question Id : 23366711493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :
| » Very steep

.. very deep
. « presumption

, « ascent

Question Number : 17 Question Id : 23366711494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for mgenuous

Options :
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. % Clever
, » Ingenious
, v honest

., » Indecent

Question Number : 18 Question Id : 23366711495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :

. » abjure

, «ENnigma

« skip

3.

4. v dCUITICT]

Question Number : 19 Question Id : 23366711496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Invincible 1s an antonym for
Options :

. ,conquerable

, » transparent
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, « f1asco

, = 1nstil

Question Number : 20 Question Id : 23366711497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « S0 as to play with his friends, he finished his home work quickly
. « He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends, he finished his home work quickly

Question Number : 21 Question Id : 23366711498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
. In spite of several obstacles. she succeeded finally

, « Not withstanding several obstacles, she succeeded finally
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. » Though there were several obstacles. she succeeded finally

, «» There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366711499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into passive voice

“I saw him opening the door”
Options :
., I saw the door and he was opening 1t

, « Opening the door, he was seen by me
., I saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366711500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :
« I waited for two hours because of him

, » He kept me waiting for two hours
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. « He 1s waiting for me for two hours

, » | was waiting for two hours for him

Question Number : 24 Question Id : 23366711501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow™, she said
Options :

.« She said she would bring my laptop the next day
, . She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366711502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :

.~ She said, “I love pizza so much”

, « She says, “I love pizza so much”
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. « She said, “I loved p1zza so much”

, « She says, “I loved p1zza so much”

General Knowledge

Section Id : 233667382
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667459
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366711503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:
26 DY S0 Voo WBE) FANE DA
Options :
Formation of laws
, SO0 GrJodotitio

1.

Conducting elections
D) SO0 DB aTroLdcio
2.
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Pass budgets
} E,ch,eSE_JcﬁJ esardotdco

3.

Managing Parliament sessions
, & TG0 DAEDT O DE(rocstio

Question Number : 27 Question Id : 23366711504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India 1s:
PER30S” 3DV oD VERDY:

Options :

Vembanad Lake

Doy E zbd?bab
1. %

Dal Lake
oeed ‘SJCSR}JD

2. %

Wular Lake
. Syred SISV

Chilika Lake
33 a@? K)CS@J

4.

Question Number : 28 Question Id : 23366711505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The term "carbon footprint" refers to:
"SEND FESHNEG" 0D Do DO ATV
Options :
Growth of forests
| x 990 DEMDGO

Water pollution levels
D SPRDD JPaen
2. % @

Total greenhouse gas emissions
_, 20go OTFR Jrain &grren
3.9

Fuel efficiency of vehicles

TITT) QoD FG .0
. &%

4.

Question Number : 29 Question Id : 23366711506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun 1s:
‘5&?6)5&3) @(ﬁéaﬁ)éo DADEIS erdeddFo 0313535 QG & (o:
Options :
Aditya-L1
, e.e&ejs -L1

1'

Chandrayaan
, & B0G0IPO
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Surya-N1
‘é:u"qg -N1
3. %

Vikram Lander
. DE0 950(1‘,5

4.

Question Number : 30 Question Id : 23366711507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:
PEBBF0S” 'S0 DDH0' PEEHoT HIE HVADE €od:
Options :
[rrigation reforms
, DOTDE Do) Srren
Industrial development
§ FOFTE STANA

2.

Agricultural productivity
» BOT O &TPYBISS

Environmental protection

?.’Jm?saﬁdca Folele kN>
4, %

Question Number : 31 Question Id : 23366711508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s not a fundamental right in the Indian Constitution?
308 O e TrarjoriodS FOE Py, TG J?
Options :
Right to Equality
. VAFDSS TPE),
Right to Property
88 SV
2 5

Right to Education
§)c3°5 T8,
3. %

Right to Freedom
5 o
L SN2 JQJEJ

Question Number : 32 Question Id : 23366711509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:
Q307 0e3:
Options :
United Nations Educational. Scientific and Cultural Organization
,DSTragOdd Doeg FTYAD BAL For)BS Vo
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Universal Science and Culture Organization
| o CFIDBNS DOy ol SONG BEISNS
United Nations Environmental. Scientific and Cultural Organization
DEORIODS HTDGE, TPOD OAEL JoR)HBE VoD
3., = Q@

Union of National Education. Science and Culture Organisation
| B0 DAY D0 B0 WORYHD Do WoFvo

4.

Question Number : 33 Question Id : 23366711510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:
26 FE0e0S” D &oLIoW:

Options :

Lok Sabha and President
-, 67808 B0t G
Lok Sabha and Rajya Sabha
. 57802 S0B0K TR
Lok Sabha. Rajya Sabha and President
| 8508, Tragdd S8ain e S

3.
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Rajya Sabha and Supreme Court
| TP andakn WoS'dd
4,

Question Number : 34 Question Id : 23366711511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand 1s:
esdoeol TRTE:
Options :
Mussoorie
SSUNING
1. #
Nainital
) % TS

Dehradun
3. a@m‘g

Haridwar
'ZJ“@D"SB
4, %

Question Number : 35 Question Id : 23366711512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River 1s known as ‘Dakshina Ganga’?
'$263 Horf 9 DLVHE TPEBOD IO B??

Options :
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Krishna
| % 2

Godavari
2. Flﬁ o)

Kaveri
3. % 508

Mahanadi
4. % OTPDE

Question Number : 36 Question Id : 23366711513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth. One Family. One Future' was the theme of which recent international summit held 1n
India?
2,8 2R, 28 LHE000, 28 BIER' ©IB VI LEBBF0S” 200 D WossTAaD FPT°Y

DAPDE0 RAD807
Options :

G7 Summit
|« G7 3ToF DATDB0

SCO Summit
, « SCO 3T°d DAFDBO

G20 Summit
3. G20 %}SDU"Q DATDFO
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BRICS Summit
, « BRICS 320°d DATDBO

Question Number : 37 Question Id : 23366711514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog i1s to:
DA e3A3rH @VE) I FG:
Options :
Conduct elections
. D) Sew adsfmcﬂﬁc‘,o

Formulation of policies and strategies
L, Derren 280k Jr§oion rdodoto

2.
Collecting taxes
| DRy e HAren Yoo

Enforcement of laws
, PO e955000) O o

4,

Question Number : 38 Question Id : 23366711515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go into space was:
903850858 DV A0S BB HY:

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 22/97



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
Sunita Williams
-, Ade DDaHoy
Kalpana Chawla
- SUDZ.'P Ao

Ritu Karidhal
3 % 6930 5555“95

Tessy Thomas
Sy TR
4. %

Question Number : 39 Question Id : 23366711516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?
2BOL AHFTDADS AN (B318) Aol JiP,AoDD B30 DB?

Options :
Germany

. ad&i’)

France

BN

Italy
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United Kingdom
4 »O30JBE Sohcian

Question Number : 40 Question Id : 23366711517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti’ was related to:
gl is 3S’ AL H0L0O0DID:
Options :

Women's empowerment
| % 0T JOSES

Anti-satellite missile test
) v EDF5 DB GE £063 0BE

Cybersecurity program
» 2Pd BGT° S°B(EM0

Skill development for youth
, CODBH JDDETFDOE

4,

Teaching Aptitude
Section Id : 233667383
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
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Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667460
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366711518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment 1s:
QT°) E3°e3) S 90cST® A0, &6?50:
@
Options :
To assign final grades
L, DB o0 5@3050@53

To evaluate teaching staff
- S e 22308 B VTS
To improve learning while it is happening
» ©9e3°{0 &MY YD T Fobleblabrele nImaiels

To promote students
| DTGV Te3yroseeDS

Question Number : 42 Question Id : 23366711519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which learning theory 1s associated with operant conditioning?
D 92§ Jgrotho esBB0H SodNVAE SNEDE &od?

Options :
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Piaget’s theory
VOIS drotho
1. ® @
Skinner’s theory
5 a
» )06 SIS

Maslow’s theory
QY DErodso
3. ® @ @
Gardner’s theory

356 Hrodho
4, % G @

Question Number : 43 Question Id : 23366711520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A democratic classroom environment encourages:
DI I] AOAD (16 TTrOGE0 DB TAYTR0A:
Options :
Authoritarian discipline
| x OE SH0IE6

Passive leamners

_ Qa0 & 9a3fOEOe

2
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Student participation and dialogue
3_‘)@5{&3@ eyﬁfﬂ“gscmso 08030 Hoeries
3. ¢ @

Teacher-centred teaching
| o GITEiOD-B088y 576D

Question Number : 44 Question Id : 23366711521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s an example of intrinsic motivation?
0S8 PO ST GE DE?
Options :
Prize for winning
|« BODD0GEIL 2TV

Fear of punishment
0. # %.5_ EjCl‘iJO

Desire to learn

| Iéd)agﬁmeufa £6¢
3.9

Parental pressure
4 % B0SoO0 A

Question Number : 45 Question Id : 23366711522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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A teacher using Bloom’s Taxonomy should aim at which higher-order skill?
Qe HPECR TP GOOIPH0B GIPERHOID D &) S a0 YT VEjorT SR ed?
Options : =
Remembering facts
|y TPRTOD oo dco

Applying definitions
| NEGDITO dBoDnSA0

Creating new knowledge

58 ey Dyajoctcio
v = ® &

Understanding rules
, Qobadroy edo S dco

4.

Question Number : 46 Question Id : 23366711523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In pedagogy. ‘feedback’ helps:
&GS TR0, ‘@DI"0D0’ BIF SDATHDEISIE:
Options : /
Punish students
| % VTR0 3L 0B

Modify teaching strategies
, o O IrEPOR S8\
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Give homework

s o Fodo) RITEDS

Mark attendance
4w SPRA DHBoTAS

Question Number : 47 Question Id : 23366711524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among these promotes inclusive education?
DB D& DAYV DAL P R0E?
Options :
Segregated classrooms
| % 00 S0DVED SN (fden

Fixed curriculum
DG F T 0T
2. 8% @
Adaptive teaching methods
|, 0870 5O DYBIR
Competitive grouping
| OB DI

4.

Question Number : 48 Question Id : 23366711525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which i1s a barrier to effective classroom communication?
B30 3OS ":omg&ﬁoej@é 5&‘1:0"53@.’:15%3 Eﬁ(éoérﬁ &é‘l{?} ATAYY
Options :
Use of visual aids
. O DAY arESo

Clear articulation
L« R0 €T 08

Language mismatch
s v P DOV OED Do

Active listening
. t‘.’DCiJ%P D0

4.

Question Number : 49 Question Id : 23366711526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A good teacher evaluates students by:
2,8 $000) EJTPHOINCD DEFEOR € $06 DESOTT VOT® DJ°ed:
Options : -
Comparing them with others
o, 8D RBOOE T'onco T8
Judging their behaviour
, T8 DGR ot Dabo oyl

2.
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Identifying strengths and weaknesses
LIEUNERECE S DRTIBOV DBodto T3
Ignoring slow learners
| . DDA RENDOITED D) Bocicio B

Question Number : 50 Question Id : 23366711527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective teaching 1s primarily about:
0EPHD0HRD e5°6S. DT D (1HBOD:
Options :

Completing the syllabus
| DOV QPY Yabdio

Giving maximum homework
. glereluoy 5 o&ﬁ&b QD(E0

Enhancing understanding and engagement
DT OAIL DINTTY DoTodotdio
3. @
Following textbooks strictly
, » FTOEDRT O Py Jedocdcto

Mathematics
Section Id : 233667384
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667461
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366711528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following differential equations 1s not first-order and first-degree

2808 @355S DMESTOS” DA DEIES-e388 0B8N BweseS-A (A 5°¢0

Options :

d—y=x+y

1w dx

dy
— = 3 2
4. ® d.]{' ‘X:+

Question Number : 52 Question Id : 23366711529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The orthogonal trajectories of y = ax?,y = ax"

y = ax?,y = ax™ @020 Herew

Options :

Lx X2+ 2y% =¢?
2 /...

2w YT T X =€

2 2 —
;e XT TNy =¢

X~ =

Question Number : 53 Question Id : 23366711530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. . . . a . . d 2
What 1s the integrating factor for the differential equation ﬁ + (;) va=F =

L1+ (2)y =x? oF 0550 HWISETVS HH| S°EE0 DN

Options :

2
L X

1

0. # X2

3.33x
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1

4. % X

Question Number : 54 Question Id : 23366711531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Solution of non-exact differential equation (1 + xy)ydx + (1 — xy)dy = 0 with

integral factor R 1S
D s°B880 xz; & DD IS 958D DWEBO (1 + xy)ydx +
(1—xy)dy =0 QB0E) 0Oar) 80
Options :
1 X

- = lmg(;) ==
W log (x) c

1 5 (-
Lo o ioe5)=c

= Y\ =

- xy+10g(x) =

Question Number : 55 Question Id : 23366711532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Find the general solution of the differential equation% = 5x2 + 2.

2 = 5x? + 2 3 e HAEGmR0 CAnE), Fordn HOI)ToD) SRFDE.
dx J

Options :

| @ 5X% 4 6x—3y43C =0

, w12%—39° £ €=10

L2 10x° +12x —y2+ € =0

L x10x* —3y*+C =0

Question Number : 56 Question Id : 23366711533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Solve p? = 7p+ 12 =0 forp
0 00 p2—Tp+12 =0 Q HBAB0N%0S

Options :

L =3x—c)(y—4x—c)=0
e (=4 =) (y—2x—c) =0
, ol +3— L) —4E —£&) =10

. (y—3x—c)(y+4x—c) =0
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Question Number : 57 Question Id : 23366711534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the differential equation y = px + /4 + p? 1s
y =px + /4 + p? ©F @35S HadEB0 TwE) DOaXYE0

Options :

s = CO?+C=0
,a (= Cx)*+4C* =0
Lo = Cx)?—Cr =4

(y—Cx)*—4C* =0

4. %

Question Number : 58 Question Id : 23366711535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following equations 1s solvable for y

208 dEBeTOS y 8 HBXY,B0BSAIE D

Options :
wdbyr=1
Lex+yt=1
Lo3x+2y=28
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,aXty=landx—-y=1

Question Number : 59 Question Id : 23366711536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the oeneral solution of the Clairaut's equation v = px + »°
g q y=p P

S8 QNEBI0 y = px + p? TNEY TG HOXLB0 DES

Options :
e ¥=Cx+C?
, wy = Cx +C7

L w Y= Cx +3C7

L = Cx+C*

Question Number : 60 Question Id : 23366711537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The particular integral of (D? 4+ D + 1)y = sinx is
(D24 D + 1)y = sinx 3B0E) |1DSB5E 080
Options :

| % Sinx

, & —SInx
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; & COSX

4 v —COSX

Question Number : 61 Question Id : 23366711538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of (D — 2)(D + 1) = 0.
(D —2)(D + 1) = 0 ABNE), 0 08axr) 80.

Options :

2x P —-X
L x C1€77 T Cce” +cge
. cie® + (¢c; + c3x)e™™

> 2x
N (cycosx + cysinx) + cze

. cie®* + (cy + c3x)e”

Question Number : 62 Question Id : 23366711539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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I[f m = —2, m = —3 are root of the auxiliary equation of a second order homogeneous

differential equation, then the differential equation 1s

BOCES 1363 D230 @dEDS HES0 TBE) HsFoNS HESH0
S30E), [P0, m=-2,m=-3 0N, ©@IEDS DaNEBL0

Options :

,(D*+5D+6)y=0
,«(DF+4)y =0
. w (D* —5P £E)F=0

(D*=3D+ 1)y =0

4. %

Question Number : 63 Question Id : 23366711540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The particular integral of f(D)y = e®™ 1if f(a) # 0.
f(a)£0 @O f(D)y = e TBNE) (NBE JrT°0%0.

Options :
1

e—{l

e ax xm

, » 0(a) m!
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1 e ax
5. v f(a)

— X m

e X

4 % 0(a) m!

Question Number : 64 Question Id : 23366711541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

= . ; o | s
If Q 1s a function of X, then the value of T Q 1s

Q ©TE x TBNEY (DTNONO LONS, D—;Q DeENS

Options :

. e—CKJ(' J'eﬂ'.x de

L.

v e X J‘e—ax de
—ax —-ax
L e”™ [e™® Qdx

3.

P 8{1’1’ feﬂfx de

4

Question Number : 65 Question Id : 23366711542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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. 1
Find the value o o

Lotz el EFS0A.

DZ
Options :

l 84;1.'
% 4

1
_€4x
)« 16

1
_843:
3 0% 12

1
€4x

4. % 8

Question Number : 66 Question Id : 23366711543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

) - . : V: e* .
The Wronskian of the differential equ dxy + 2y = —= 18
d
y + 2y =
Options :
1. #® E'x
2 v B
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L €2x

4, % €5x

Question Number : 67 Question Id : 23366711544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the differential equation 1s g—i = sin(x +y) + cos (x + y)

2938 HNEB0 TBE), HOBIXY S0 Z—i = sin(x + y) + cos (x + y)

Options :

% = Zn(l + ra'n%(x - y)) +c

1. ¢

= !n(ta.n(x — y)) +c

In(x+y+c)

=
Il

=tan{x+ % +1)+ ¢

Question Number : 68 Question Id : 23366711545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Solve (x2D?* — 4xD + 6)y = x* where D = di

X

(x2D2 — 4xD + 6)y = x2 D DONYLO0NV0R, Q&S D = i

dx
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Options :

Y= c1x? + cox* — x*logx*
L Y= c1x° + cax® — xlogx*

= c1x% + cox® — x%logx

c1x% + cx% — xlogx

N

®
b o
Il

Question Number : 69 Question Id : 23366711546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The polynomial 2x? — 4x + 3 in terms of Legendre’s polynomial is ......

SROIT DITVIA DGO 2x?% — 4x + 3 2TV ...

Options :

1

1. ®

%(4192 4+ 1P, 4 TTES)

2. %

= (P, — 12P; + 11Py)

3. %

1
= (4P, — 12P; + 11P,)
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Question Number : 70 Question Id : 23366711547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The linear differential equation (x"D" + a;x" 1D ! + q,x"2D"? .4+ a,) =X
represents
BDOH @SEOS DEBL0 (A"D™ + a;x" 1D + q,x"2D"2 _ +q,) =X

Q AFDROE.

Options :
Cauchy Differential equation

Lo T eS80 D800

Legendre Differential equation

L« B20B @58 HanEB0

Gauss Differential equation

e TPR @38 HEG0

Albert Differential equation
L« BB @SES SWEG0

Question Number : 71 Question Id : 23366711548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 44/97



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Find the Cartesian equation of the plane passing through the point (3.2.-3) and the

normal to the plane 1s 41—2j+35k?

(3,2,-3) DoY) KOG TS $0 TN TOVAHNS HEBT)
EDFTI0ER B3 6578 B0 4i—2j+5k?

Options :

| v 4x-2y+572+7=0
, w SR2¥-37H1=D)
, & A=Y HZEHT=0

, w B2yt

Question Number : 72 Question Id : 23366711549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

There 15 a rectangular garden of 220 metres X 70 metres. A path of width 4 metres 1s

built around the garden. What 1s the area of the path
220 R x 70 e 7Y K> AYRIEB|TE e SOH. S THEY

4 DS Teden ) e SrP0 AB0BDAR0A. S0 TE), JT°S0 DO

Options :

| x 2472m>
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2 2162m*
.« 1836m°

+ v 2384m?

Question Number : 73 Question Id : 23366711550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not the correct formula for representing a plane

806 ¢3S DA DS AFPDONETIE DB H(eh0 5D

Options :
& T = d

,xax+by+cz=d
,u lx+my+nz=d

,oal+bm+cn=d*

Question Number : 74 Question Id : 23366711551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If the plane passes through three collinear points (xy, v4,21), (X2, V2, Z2), (X3, V3, Z3)

then which of the following 1s true

2,8 0065 S DSOD0H Do Hom IS
(%1, ¥1,21), (X2, 2, 22), (X3, Y3, 23) @) )0 80O ¢3S DB dazo

Options :
L X1V1Z1 T X2Y2Z7 + X3Y323 = 0

3, % Zg

4w X1X2X3 + Y1VaV3 + 217223 = 0

Question Number : 75 Question Id : 23366711552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

47197



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Find the equation of the plane passing through the three points

(2,2.0), (1,2,1). and (-1,2.-2)
35305°¢8 DoNHO KO IT Y >0 T3NE), DEBET) EofFSod
(2.2.0); (1.2.1); OG0 (-1.2.-2)

Options :

1. (F — {21 + 2Ll )R [—3i —2L}] =0
LFE—Bi=2).[(—i+ k) x 2i-2K)] =0

L (PHQi+2).[(-i-k)x(-3i—-2k)] =0

L (F= Qi+ 2)).[(=i—k)x (3i+2k)] =0

Question Number : 76 Question Id : 23366711553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two lines are said to be perpendicular 1f the product of their slope 1s equal to
BOED BB TN BNE), b1 L DITROMT S0T ¢33 020
NS ND.

Options :

v -1

»x 0
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3 1

o™

4, %

Question Number : 77 Question Id : 23366711554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the distance of (5. 12) from the origin?

S0re0 oA (5, 12) B30 0eh?

Options :
S units

w5 ADPQEY

8 units

L w8 O0PQEY

12 units

4 12 COmED

13 units

., 13 ahrdew

Question Number : 78 Question Id : 23366711555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Two lines are said to be parallel if the difference of their slope 1s

Goc O VAT oSG0 e TJ°E) T°en :35@?5‘530 Doed?

Options :
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1_33-].
2.v 0
3_33].

4 % 2

Question Number : 79 Question Id : 23366711556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equation of a straight line that passes through the point (3. 4) and 1s perpendicular

to the line 3x+2y+5=0 1s
(3, 4) OCNY) KOTT JSOSF 3x+2y+5=0 BDWE SOVOTF &) OB B
3308 DWEB0
Options :
| v 2X-3y+6=0
, & 2xray o=

s » 2X-3y-6=0

. & 2X13y-6=0

Question Number : 80 Question Id : 23366711557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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. x+l -3 -
The angle between the lmne % = E = ZT and the plane 10x+2y-11z=3

o =L=I2 g fbatn 10x+2y-11z=3 oo 2065 Eeo
2 3 G

Options :

sy
, €os (8)

1.

. T
)« €08 (21)

- —1r8
, o5 (21)

e
L % SN (8)

Question Number : 81 Question Id : 23366711558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The center- radius form of a sphere 1

Ao BwE), So(Q-aesa 8 B0

Options :

g R PR =

) v (X = a)+(y—-b)*+(z—-c) =r°

R
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s (x—a)+(@y—b) =r?

Question Number : 82 Question Id : 23366711559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two spheres are said to be 1n touch externally 1f (where d=distance between their

centres)
BOK Foren ePsTsomr 0SS Ga) OV Tanedd (RE),.68 d = oed
Elel{axS I aInvilelo)

Options :

s d=r+n
, ® d=r—rn
3 ® n=4n
4.$$d='r1.'r2

Question Number : 83 Question Id : 23366711560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The centre and radius of the circle of x? + y?2 + 2?2 + 2x — 2y — 4z — 19 = 0 is
X2+ y2 422+ 2x — 2y — 4z — 19 = 0 59850 TBNEY 300 SHBASW
S5 rQ0
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Options :

L (-1,1,2),5
, w U124
3 % (_ 111J2)1 _4

4 % (1! _112).! —4

Question Number : 84 Question Id : 23366711561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general form of the sphere 1s

S0 TB0E), rerden B0

Options :
1.ssx2+}’2+2’2+ux+vy+wz—d:0

e X+ Y 28+ 2ux + 2vy + 2wz —d =0
3,ax2+}’2+22+ux+vy+wz+d:0

4_\/372+}’2+22 + 2ux + 2vy + 2wz +d =0

Question Number : 85 Question Id : 23366711562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Find the value of a where the angle between the plane 2x — 3y + 6z — 11 = 0 and
the x-axis is sin™*(a)

2%-3y+62-11=0 0 NBASN x-98.0 085 §90 sin~1(a) @ONS T o
DeENAD EHFN0G.

Options :
V2

1.% 3

Question Number : 86 Question Id : 23366711563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The total surface area of a cone with a base radius of “r” and a slanted height of “I” 15
equal to

I 00 TEERPQ0 DO “1" PN &) D) EOAD 0850 TE),
VB0 DS JFP S0 8 DAPS0.

Options :

Lw rl + 2mr?

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 54/97



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

o w 2mrl + 2mr?

s o rl + mr®

. w 2IF?

Question Number : 87 Question Id : 23366711564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the total surface area of a cone with a radius of 7cm and a height of 24cm

7 0.0 P50 08G5N 24 0.9 e EOAS 0505 Jnedo
%00 JTDO DOE

Options :
« 710cm?
) v 704¢cm?

. = 700cm?

. & T25chi”

Question Number : 88 Question Id : 23366711565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The curved surface area of a cone 1s 1980 cm- . and its radius is 21cm: what is the
slanted height of a cone

2,8 308059 TB0EY & SNBSS JT° 50 1980 0.2 DOAN T
500 21 0.9, 28 0805 TBNE) VT &) D DO

Options :
| % 25¢cm

, % 38cm
; % 35cm

4 v 30cm

Question Number : 89 Question Id : 23366711566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the equation of the tangent plane to the sphere x% + y? + z? —4x + 2y — 6z +
5 = 0 which 1s parallel to the plane 3x+2y-2z=0

3x+2y-2z=0 %78 JSr0SSom™ &d) x2 4+ y?2 + 22 —4x 4+ 2y —624+5=0

Options :
w3t 2y — 22+ 34 24/17=0
, 3K+ 2y — 2%+ 33— 2Y17=0

3 v % 29— 224 24 W17=0
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. % 3% — 2y — 2z — 3 — 3/17=0

Question Number : 90 Question Id : 23366711567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A right circular cone height 15em and base radius 15¢m 1s curved out of a wooden

sphere of radius 15cm volume of the remaining wood (in %) 1s

15cm 5 SHBAM 15cm 23R P5rQ0 EDAS S0& H9B°s08 $050)
A > TBE) TR (% ) 15cm Fe5ardo QAL TE) o)
30)e38A €F0TNAOE

Options :

1. #® 25

Question Number : 91 Question Id : 23366711568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let Z, = {0,1,2, ...,n — 1} fails to be a group under multiplication modulate
because

o5 S0 mm@eﬁ Sod Z, ={0,1,2,...,n — 1} 28 220701 JDOB

Options :
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Closure property fails
L 0oy c:ﬁdéc: DV

Closure property holds but not associate
)« V0B G360 SDA Gotnod, 5° VNG (360 T

There is no 1dentity
SO \r0zo 3G) 0 57D
3. ®

There 1s no mverse for an element “0° of the set
4 @ RN 'O MAresedS DeStHvo SED

Question Number : 92 Question Id : 23366711569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If “a’ 1s non-1dentity self-inverse element then O(a) must be

a' @O HO0DH B D LON-DSHD Sre>E0 o Oa) 9T AN
GOTO.

Options :

-

1.33:"'1
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Question Number : 93 Question Id : 23366711570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of generators of a cyclic group of order 60 1s

e85 60 TBVE) B DATT0 TBNE), 23838 Hows

Options :

1.3332

2 v 16
3 & 8

4% 30

Question Number : 94 Question Id : 23366711571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the order of the non-abelian group

T°-€923D DA DoNTTO AN EY, (BT ST

Options :

13@4

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 59/97



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 95 Question Id : 23366711572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let G = {1,—1,1,—i} 1s multiplication group then
G={1,-1,i,-i} H£aseS Hsr0 evone
Options :

G 1s cyclic and ‘17 1s the only generator

G @A BECHDIE O T 0RO JBE 22380
G 1s must cyclic
.« G OO SEADDIS

G 1s cyclic with two generators ‘1" and ‘-1°

, G o0 Bk 238D 1 50050 ' & §rded SHEAHBSA

G 1s cyclic ‘17 1s the only generator

.« G OO I EAHDIO 1’ T JBE 23306

Question Number : 96 Question Id : 23366711573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let (G.+) be a group. A nonempty subset H of G 1s a subgroup of G if and only 1f
a,beH

(G, +) 2.8 QAT OMP 23700506, G g, 2@ 520 HOOWS H 9TA a,
beH 900 DO S5 0N G ANE) ) DedITT*0

Options :

1. % ab_léH

, » abeH

v a+ (—b)eH

%@t btell

Question Number : 97 Question Id : 23366711574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let O(G)=12 and the index of a subgroup of H of G is 3. then order of H 1s
0(G)=12 NOCM G AWNEY, G DA%0 AWNEY A8 H 3 aned H ABngy, (800

Options :
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o l2

Question Number : 98 Question Id : 23366711575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Every finite group G of composite order possesses

|FsD (BSOS 1D DB D0 G DN G0N0

Options :
improper sub group

L D05 B DRG0
proper subgroup

OB &H DO
no subgroup

LB DAL B
abelian group

4% ZBO0N® DT

Question Number : 99 Question Id : 23366711576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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EBIEE oo ak) is called a ----- of length k.

A permutation of the form ( s G ... O

(al as ... Clk) S350 mg& Lé@é%é) ” @"Cé&f)_) mézr _____ —

a, ds ...y
Options :
permutation

. TS
cycle
Lo W50

transposition

AN o R e

matrix

L 2705 )8

Question Number : 100 Question Id : 23366711577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If N and M are normal subgroups of Gand M N N = {e} forn € N,m € M then
N D83 M e neN, meM @80 G 83 MNN={e} BB E) TPPAD

DTN 90N
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Options :
v hm =mn
, » MM F mn

e im =1

4.$$n='m

Question Number : 101 Question Id : 23366711578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If G 1s abelian of N 1s normal subgroup of G then G/N 1s
G O ©9BO0NS WONB N A G A3NE) B & DTT*0

o0 G/N @30

Options :
non-abelian

LS 0BO0HS

abelian

EPRFAIDIOWIN

cyclic

. BES®
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non-cyclic

. PSSO

Question Number : 102 Question Id : 23366711579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The order of the symmetric group S,, on in symbols 1s

DIFYOS 5, @©F DDETD D0 TBE), (500

Options :
1. ® 1

) % 2:'1

3 ¢ !

.« (n-1)!

Question Number : 103 Question Id : 23366711580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If N 1s a normal subgroup of a group G and a, beG then

N @& G OO a, beG (IS PGB €5 DeTIT0 0N

Options :

, »aNbN = abN
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. NaNb = aN

, « NaNb = Na

Question Number : 104 Question Id : 23366711581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A homomorphism @: G — G is an 1somorphism if.
—————— 0B VATV P: ¢ = G 9IO SOVETDS.

Options :
(@ 1s one to one
e 0 0938 (S DDA

(@ 1s one to one & onto
, oD 90O 938 DB B DAL

@ 1s onto
| D 028 Hde PIoaAo

@ 1s neither one to one
. D 98 ALS DDA 57

Question Number : 105 Question Id : 23366711582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following set 1s not a ring

208 3¢3S° D& 8080 52¢0

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 66/97



6/7/25, 12:24 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

set of real numbers
e S DO Sed

set of rational numbers

L« P2 SOPFS e

set of natural numbers
s v P23 DOP LS Daded
set of integers

L« STPOTTO daWed

Question Number : 106 Question Id : 23366711583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If R 1s a Boolean ring then

R 273N SN0 o3

Options :
 wa+a=aVaeR

,wa+a=1VaeR

,va+a=0,VaeR
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,» @+ a=—aVaeR

Question Number : 107 Question Id : 23366711584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s correct

808 ¢3S DO JBIS

Options :
every integral domain 1s a field

, D& rTrod |HDF0 2.8 (o

An infinite integral domain 1s field

L+ ©308 JPT°0F (DTF0 2.8 T (50

A finite integral domain 1s a field

DB JrPros (DBF0 2.8 3 (o

integral domain 1s a field

L« JT°0E (DHTF0 2.8 TS0

Question Number : 108 Question Id : 23366711585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Number of ideals a field has

2,8 3 (650 DA &) &dT°) oW

w3

2% 1
3% 0
v 2

Question Number : 109 Question Id : 23366711586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If R is a non-zero ring so that a*> = a,V aeR then the characteristics of R is

R @8 D) 5P HOON0 @O a? = a,V acR 0N R A30E),

8 gFPe

Options :

Lv2

2% 3
3.334

4.336
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Question Number : 110 Question Id : 23366711587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If (G.0) 1s a group of order 24 then G can have a subgroup order

(G,0) @A 245 (D0 e D0 00N G 8 &5 Do (800
&GO

Options :

L #® D

2.337"r
3.¢ 8

1% 9

Question Number : 111 Question Id : 23366711588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A set A 1s said to be countable 1f there exist a function f: A — N such that

f: A>N @3 D0ER GOT D A Q B8)0tISASAT T2, @®OT

Options :

f 1s bijective
L, OO & 5278
f 15 surjective
RO OBES
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f 15 1dentity map

. feoRd HB0YH Jeo
f 1s additive 1dentity
Lo TR 508D H00

Question Number : 112 Question Id : 23366711589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are true about Dirichlet function
GORE Do&S (Hbow) Sod T°63e5° DA Davo

Options :
Dirichlet function 1s continuous everywhere on R.
xR DHTET AOBE DoES DBoSBor™ okl

i)

Dirichlet function is discontinuous everywhere on R.
, v R D DB GOBE DoED DBoBT OO E0tod

Dirichlet function is continuous only at rationals.
3 D‘?'q;}e‘_’a?_} I}rc.g} bl o &6@6’5 D0ES JBoT Al Sobodd

Dirichlet function 1s discontinuous only at irrationals.
4 % WDV DG DG GOBO DoES ABoBT 00 Eotwod.

Question Number : 113 Question Id : 23366711590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Choose the correct option

DB DODE DOTNT OB

Options :

Leta, b e R and f:(a. b] — R continuous on (a, b] then f 1s bounded on (a, b].
a, b € R DOAW fi(a, b] — R (8, b] 2 B0HTONOMT &GOS 10 €959 )¢

f (a, b] 20 OB &0DN S08%.

1. %

Leta, b € R and f:[a. b) — R continuous on [a. b) then f 1s bounded on [a, b).
a, b € R 083w fifa, b) — R [a, b) 3 QBE0HSTADOMT &S 0GR €95))CR

f [a, b] 20 DBTCRMT G0N ;08

2. %
Leta. b € R and f:(a. b) — R continuous on (a, b) then f 1s bounded on (a. b).

a, b € R 8% fi(a, b) — R (a, b) 20 QBE0HTOHOMT &0CsS L0 €95 )¢
f (a, b) 20 Q8T 0SS 03

3. %

Leta.b € R and f:[a. b] — R continuous on [a, b] then f 1s bounded on [a. b].
a, b € RDBAW f: [a, b] — R [a, b] 20 QB0STAHOTT &0OGBD 504 €9:))C

f [a, b] 20 Q8D G0N (08

4.

Question Number : 114 Question Id : 23366711591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Leta. b, c, d € R. Choose the true statement.

a, b, c,deR Q2R (HNEOID ot od.

Options :
There exists a continuous onto function f: [a, b] — [c. d].

-, fila, bl - [c, d] @S QB80S & 5H9 (DDANO &0d.

There exists a continuous onto function £: [a, b] — (a. b].

. fa, bl — (a, b] @ QB0SS & 5ihed (HRVODO &o&.

There exists a continuous onto function f: [a, b] — [a. b).

. fila, bl — [a, b] ©F QB0E & §Hed (DA GOd

There exists a continuous onto function f: [a, b] — (a. b).

.« F[a, b] = (a, b) ©F A0S & 51069 (A0 G0d.

Question Number : 115 Question Id : 23366711592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the true statement.

QBN (DEEI0X 0N 0.

Options :
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Continuous real valued functions are Lipschitz.

QB80S DTS Dewsd EOAS HOZ W OVHYE

1.
Lipschitz real valued functions are Continuous.

L, OO DB e EOAS PO DBOBT AHOM EOEFaW

Uniformly continuous real valued functions are Lipschitz.

_ DSOS DB0S BT Desd EOAD HoF D OB HE

3.

Continuous real valued functions are uniformly continuous.

B0 QTS Ve NS HOZ D VEBSM ASOSSOM OO,

Question Number : 116 Question Id : 23366711593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

X
The value of lim (1 + i)

X—00

lim (1+3)" Denss

Options :

1. #® 1112

2.331
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3.¢ €

4, % O

Question Number : 117 Question Id : 23366711594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The value of lim (tanx logx)

X—00

lim (tanx logx) a0
A — 00
Options :

1.3‘52

Question Number : 118 Question Id : 23366711595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

K )= 2_; Then what would be the sum of the lower and upper bound of f(1). if
f(0) = 1 and f(x) 1s defined for [0, 1]

f'(x) = — ©0NS f(0) = 1 A f(x) [0, 1] 5 DS D0WDAS, f(1) T,
A5 BB DN DBTENE IS0 DO @YSOE?

Options :
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Question Number : 119 Question Id : 23366711596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If f and g belong to R[a.b], then choose the false statement.

f 300050 g e Rla,b] 8 TOAND 00N, ¢5)ICD (DEELINX D0TNE 0.

Options :

the sum f+ g belongs to R[a, b].
L« f+ g 00 R[a, b] § TOHSLOE

the difference f — g belongs to R]a, b].
,« f— g B Rla, b] 8§ TOHSHOE

the product f.g belongs to R[a. b].
. ©20 fgRla, b] § 3000
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the quotient f/g belongs to R[a. b].

19 D %50 Rla, b] 8 IS0

Question Number : 120 Question Id : 23366711597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For x € R, lim ((1) sin(nx + n)) =

n—oo mn

n—oo

XER g, lim ((i) sin(nx + n)) =
Options :

-l
v 0
3% 1

R

Question Number : 121 Question Id : 23366711598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find Z?L= Lnm+1)(n+2)

= & SR8

nn+1)(n+2)
Options :
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Question Number : 122 Question Id : 23366711599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Function f should be on [a. b] according to Rolle’s theorem.
ES 1TP050 (D580 [a, bl D DOESf___ m sod.
Options :

continuous

Lv Q0088

non-continuous

L % QO0STANO 5

integral

L x Qa0

non-existent

L x B8 B
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Question Number : 123 Question Id : 23366711600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are/is the conditions to satisfy Lagrange’s mean value theorem?

(025 DHEN DeNd DTP0TR) D0 YR DBV HAVSED DE3?
Options :
f 1s continuous on (a, b)

, F OO [a, b] R QB0ST*CHOM GOENOR

f 1s differentiable on (a, b)
. [T (3 b) D @S850

f 15 differentiable and continuous on (a. b)

L, F T (a, b) D @55T°¢5250 HOAN ABEOSTCHOM SOLNOE

f 1s differentiable and non-continuous on (a, b)

 feoR8 (a, b) D ©I550T°¢550 HBAN AB0ST OO E0CHEN

4.

Question Number : 124 Question Id : 23366711601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Check about the continuity of function given by f(x) = +/x in interval [0,2]

f(x) = Vx ©30° @I 5DES (DDDAHO TnE), FSTA0NX [0,2] NoredvoeS
$D) TAHO

Options :
Discontinuity everywhere

e DBSEr QB0ST OO

can’t say about continuity of f

L F AB0E) FIA0D) HB0D TH IS

it 1s not uniformly continuous

L x A BB QBOST OHOIT EOCHED

it 1s uniformly continuous

., BB AEOB™ DB0ST AN E0ENOS

Question Number : 125 Question Id : 23366711602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
x?=3x—4

The value of ‘X’ for which the function f(x) = = 1S not continuous are

Fx) = 22222 00T (D000 QBE0STCHOT B X’ Qe sd

x2+3x 4
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Options :

4 and -1

L 4003 -1
4 and 1

4350805 1
-4 and 1

4 506050 1

-4 and -1
4. % _4 C\:l)@m _1

Question Number : 126 Question Id : 23366711603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find ||P|| for the partition P = {1,4,5,8,13}
02323 P={1,4,5,8,13} 800 IPI & E0F30B

Options :

v
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Question Number : 127 Question Id : 23366711604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If f:[a,b] = R 1s integrable on [a.b]. then---- where M and m are supremum and
infimum of f on [a.b].

Fla bR [3,b] B DOHDGIEASE oS, e 21 M SBG50
m [a,b] 2 f TB0E) N[DD BTSN LTOFEN.

L ﬂf;-(b —a)> f;f(x) dx > M(b — a)
L mb—a)z [ f(x)dx = M(b—a)

L mb—a) < [ f()dx < M(b - a)

m(b-a) < [} f(x)dx < M(b - )

4

Question Number : 128 Question Id : 23366711605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the value of the given. lim (E)

x—0 \X
2D HOMWS Densd oss, lim (5)
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1.« CO

2% 0

1
3. 8% 2

Question Number : 129 Question Id : 23366711606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find fl}g ydx =
[ xdx = 3 E0FS08

Options :

1. ® 34

2 32

Question Number : 130 Question Id : 23366711607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will be nature of the f(x) = 10 — 9x + 6x* — x° forx < 1
x < 18f(x) = 10— 9x + 6x2— x3 WBNEY D 52750 Der &0eNOH

Options :
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Decreases

PR ToVTo Vot

Increases

, % N OH

Cannot be determined for x < 1

x < 18050 Q800N TAD

3. %

A constant function

VEDS HDoES

4. @

Question Number : 131 Question Id : 23366711608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let V be a vector space over field F then which are of the following is incorrect

FE (50D V o0 3IE0 )0 @onad 806 52365 & &)

Options :
V 1s an abelian group under addition

L,V oRO 8rdE 808 ) 2.8 @BOANS JSursro

There must be two binary operations in V

V&S Bockh B @858 somd
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V 1s closed w.r.t scalar multiplication

L Vo0 b Hhesdod SirdBohadod

V 1s an abelian group under multiplication

Lo VOO HsS0 8080 658) 28 @2BOANN D0

Question Number : 132 Question Id : 23366711609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a vector u = (1,—2,k) in R* be a linear combination of vector v = (3,0,—2) and
w = (2,—1,-5) then
R3 &S 2,8 JEB u=(1,-2,k) @8 IE6 v=(3,0,-2) 083D w=(2,-1,-5) &

BDOH Er0nE ©oNS
1.-\/k.= —8

k can be any real number

L« kOO AT S HoR
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Question Number : 133 Question Id : 23366711610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It vector (xy, X2, X3, X4), (V1, Y2, V3, Ya), (21, 22, 23, Z4), (W1, Wo, W3, Wy ) are linearly
independent in R* if a, B, y, § are scalars then a(xy, x5, x3, x4) + B (Y1, V2, V3, Va) +

v (21,22,23,24) + 6 (W, wp, w3, wy) = 0then the valueof a+ +y + 96 1s

a,B,y,6 Ve o R* S SOy 25 % )y (s Vs Wi V)i (8, 20 22 ),
(Wy, W, Wa, W) BDDODO K 5500 0T a,B,v,8 3 eoons

a(xy, X2,X3,%2) + B(YV1, V2, V3, Ya) + ¥(21,22,23,24) + 6 (W1, wp, w3, wy) = 0
OONB a+B+y+8 DeND

Options :

x4
2.0 0
3 x4
w2

Question Number : 134 Question Id : 23366711611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LetS = {(—3.5.2).(0,2,-2), (8, —1,%) ,(—4,1,0)} be a subset of a vector space R® then
5={(-3,5.2),(0,2,-2),(8,-1,1/2),(-4,1,0)} 93 DEO D R? WS, GRVA W 9RAEI0TT0, 93

Options :
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S 1s linearly independent smce it has finite vectors
| S 008 DG DB $HA &) 0t FDAOMT WBoBor Eotod

S 1s linearly independent smce it has more than three vectors
, S DA S0P o3 D8 DFOA SOA &) 0D Dadorr A(Sodor Gotnol

S 1s linearly dependent since it has finite vectors
s« S 08 HBS DG <DA &) 0D FDabom BEPBHE Sotwod

S 1s linearly dependent since it has more than three vectors
L oS BV 20 S0 DL D DB SDA &) 01D BDODOMT WEEEDE Eotwod

Question Number : 135 Question Id : 23366711612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following sets of vectors in R* are linearly independent

R? S°Q 808 TEB OIS’ DA BLOHOT & 550(SOM E0LNOE

Options :

. {(0,0,1),(0,1,0), (0,1,1)}
., {(0,1,0),(1,0,1),(1,1,0)}
. {(1,0,0),(0,1,0), (0,0,0)}

.« £(1,0,0),(0,1,0), (1,1,0)}

Question Number : 136 Question Id : 23366711613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s not a linear transformation

S06 oIS’ DB DSy HDODGRD S ?
Options :

T:V3(R) - V3(R) 1s defined by T (x,y,z) = (2x — 3y, 7y + 22)

o T:V3(R) = V3(R) o dodossercid Tix,v,2) = (Qx—3y.7y+ 22)
T:V3(R) - V5(R) 1s defined by T'(x,y,2) = (z,2x + y)

L« [1V3(R) = Va(R) 0 Ré@ossencd T(x, Y, 2) = (2,2x + y)
T:V3(R) = V5(R) is defined by T(x,y,2) = (x2,y)

L T:V3(R) = V2(R) 0 odossecs T(x,y,z) = (x2,)
T:V3(R) = V3(R) 1s defined by T(x,y,2) = (y, —z, —x)

.« T:V3(R) = V3(R) 0 dégdossercd T(x,y,2) = (¥, —z, —x)

Question Number : 137 Question Id : 23366711614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let W be a subset of an n-dimensional vector space V, then which one of the

following 1s not possible
W @930 n-BRVIO TED IR V TBnE) GHODBT 0SS 08,
295928 808 ¢3S DA D50 N

Options :

e dimW=dimV
, »dimW > dim V

, » dim W=0

Question Number : 138 Question Id : 23366711615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let U and V be two vector spaces over the same field R.if T: U — V be a linear map

the which one of the following 1s incorrect

T:U—-V 2.8 BDOD D0 ©ons, U 08050 V en 2.3 R 3 (80 Dot IEd
PPN B0 0. Bod ¢3S DO )

Options :

L # T(uy —uz) =T(uy) —T(uz),u,u €U
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) % T('ul + 'U.z) = T(ul) 3 T(Hz),ul} Uo el

3 ¥ T(uy.uz) = T(uy). T(uy)

»w TBug + 2uz) = 3T (uy) + 2T (uz)

Question Number : 139 Question Id : 23366711616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:R? = R? such that T(1,2)=(2.3) and T(0.1)=(1.4) then
T:R?* =- R? Q0 T(1,2)=(2,3) $NBA T(0,1)=(1,4) ™ DT €95 1D

Options :
T 1s not linear

. T BDOHO 50

T is linear but not unique

.« TBDOHO 52 D E 90 5°¢0

T 1s linear and unique

., TBDOH0 HOAN D E €0

T may or may not be linear

L« T BDANO 523t B TEFS0)

Question Number : 140 Question Id : 23366711617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Let T:R* — R? such that T(1.1)=(2.0) and T(0.1)=(1.-1) then
T:R? - R T(1,1)=(2,0) B0 T(0,1)=(1,-1) 2,5"3)0150(%, S

Options :

L w T(5,4)=(5.4)
. % 1(5,4)=(1.0)

T(5.4)=(10.8)

3. %

., TG.4)=(9.1)

Question Number : 141 Question Id : 23366711618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:U — V be a linear map the
T:U—V 2,8 BDOD DEIOT S0cAS 08

Options :
R(T) 1s a subspace of U and N(T) 1s a subspace of V
« R(T) &T& U 3308 000 08050 N(T) 9T V
N(T) 1s a subspace of U but R(T) 1s not a subspace of V
o OO0 GO0, N(T) @& U T3E) &5HR00 SR R(T) @& V
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R(T) 1s a subspace of V and N(T) 1s a subspace of U
, BE) GHD0 ¢, R(T) @ V BwE) &0 83 N(T) 0T& U

R(T) 1s a subspace of V but N(T) 1s not a subspace of U

4 % OO0E) BHVOO0. R(T) 9RO V G308y SHP00 5°Q N(T) 930 U T35y 500 5.

Question Number : 142 Question Id : 23366711619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:R® — R7 be alinear map defined by T(xy,x5,x35) = (xq,x5,0) then rank of T is
T:R3 = R3 @O T(xy, Xy, X3) = (X1, Xz, 0) T°LT° DS D003 BDAD
D0 0 NEOTO DD T A3NE) T° 508

Options :

.% 0

2.331

<
-2

Question Number : 143 Question Id : 23366711620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let T:U — V Dbe a linear map U is finite-dimensional vector space then which one of

the following 1s correct
T:U—V 208 8Das Dot erdodod, U 0938 D803 2008 986 dwo wond

808 5°8e5° D& DB
Options :

| % dim R(T)+dim V=dim U

» % dim R(T)+dim N(T)=dim V
5 » dim R(T)+dim U=dim N(T)
4 v dim R(T)+dim N(T)=dim U

Question Number : 144 Question Id : 23366711621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The minimum and maximum eigenvalues of the matrix {1 5 1‘ are -2 and 6.
3 1 1
respectively. What is the other eigenvalue

1 1 3

Sre38 [1 5 1‘ BE) AR NBAM HOR B DENNEN SO -2
3 I 1

0BAN 6. RS LB DeNd DO

"
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3.331

4.8 -1

Question Number : 145 Question Id : 23366711622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2 -1 1
The characteristic equation of matrix A = |—1 2 —1|1s
1 -1 2
2 =1 1
SeDE A=|—-1 2 —1|BwE) ©F e HWEB0
1 -1 2

Options :

e A2+ 6A2+91+4=0
s A2 —612—-914+4=0
v AP =61 +91—4=0
42 A3 —6124+121-4=0

Question Number : 146 Question Id : 23366711623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In an inner product space V(F) for aeF. a,f,yeV. (a,af + ay)
aeF, a,B,yeV, (a,af + ay) 00 08¢ cseb 18 Do V(F)

Options :
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Lw ala, f) +a(a,y)
L« @B, @) +a(y, a)

v ala,p) +a(a,y)

L@@ p)+a(ay)

Question Number : 147 Question Id : 23366711624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If @, B are orthogonal unit vectors, then ||a — f||=

a, B ©O0DFEI0H ST IEB Y oS, la-f]|=

1L 0
2 1
s eV2

% 2

Question Number : 148 Question Id : 23366711625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ifa = (-1,0,1),8 = (2,0,—2) then ||a + B||=
a=(-1,0,1), B=(2,0,-2) 00 la+p||=
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Options :

L% 0

Question Number : 149 Question Id : 23366711626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The vector of unit length orthogonal to @ = (2,—1,6) in V3(R) w.r.to standard inner

product 1s

BPSe38 @0e8e ©2)0 T3 V3(R) S a=(2,-1,6) £ ©02083aD
ORTAE] 8ress) W) I8H

Options :

2 2 1
G338
e (2,-2,-1)
o
.. (0.0.0)
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Question Number : 150 Question Id : 23366711627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. let W be a subspace of a finite-dimensional vector space V(F)then dim(V/W)=
W @3T8 DO Toreden SO )R V(F) B30E), D00 0l
NEHOTTO, & dim(V/W)=

?t"“;’im W —dimV

, vdimV —dim W

;» dimV +dim W

4.330
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